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1. The fi rst Akashwani relay center of 

the Chhattisgarh state was estab-

lished at :

 (A) Ambikapur

 (B) Durg

 (C) Raipur

 (D) Korba

2. The fi rst fi lm of Chhatisgarh state, 

made on folk language was:

 (A) Bhakla

 (B) Mayaa 

 (C) Kahi Debe Sandesh

 (D) Mor Chaiyaa Bhuiyaa

3. Who is the current Vice Chancellor 

of Atal Bihari Vajpayee University in 

Bilaspur, Chhattisgarh?

 (A) Dr. R. S. Sharma

 (B) Prof. Ramesh Kumar Pandey

 (C) Prof. A. D. N. Bajpai

 (D) Dr. Sanjeev Sanghi

1. ÚòeermeieÌ{ jepÙe keâe henuee DeekeâeMeJeeCeer efjues 

meWšj keâneB mLeeefhele efkeâÙee ieÙee Lee?

 (A) Debefyekeâehegj

 (B) ogie&

 (C) jeÙehegj

 (D) keâesjyee

2. ÚòeermeieÌ{ jepÙe keâer henueer efHeâuce, ueeskeâ Yee<ee hej 

yeveer Leer?

 (A) Yeekeâuee

 (B) ceeÙee

 (C) keâner osyes mebosMe 

 (D) ceesj ÚwÙee YegFÙeeB

3. ÚòeermeieÌ{ kesâ Dešue efyenejer yeepehesÙeer efJeÕeefJeÅeeueÙe, 

efyeueemehegj kesâ Jele&ceeve kegâueheefle keâewve nQ?

 (A) [e@. Deej. Sme. Mecee&

 (B) Øees. jcesMe kegâceej heeb[sÙe

 (C) Øees. S. [er. Sve. yeepeheeF&

 (D) [e@. mebpeerJe mebIeer

General Knowledge
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4. Which city is famous for the “Kosa” 

wearing industry?

 (A) Champa

 (B) Pamgarh

 (C) Dhabara

 (D) Nawagarh

5. What are the fi rst few words of 

kulgeet of Atal Bihari Vajpayee 

University in Bilaspur, Chhattisgarh?

 (A) efyeueemee ceW efyeuemelee efJeÕeefJeÅeeueÙe 

 (B) ceOegj ceveesnj DeleerJe megvoj, Ùen meJe&efJeÅee 

keâer jepeOeeveer

 (C) Mele-Mele veceve nceeje Fme %eeve œeesle keâes 

Jebove ØeCele nceeje Fme MegYe heefjmej keâes

 (D) DeefÉleerÙe mebmkeâej oslee, %eeve keâer Oeeje 

yenlee, yevesiee meyekeâe mehevee nw, ÙeneB iÙeeve 

keâe ieieve nw~

6. “Hasdo” is a tributary of :

 (A) Godavari

 (B) Mahanadi

 (C) Narmada

 (D) Indravati

4. ‘‘keâesmee’’ henveeJee GÅeesie kesâ efueS keâewve mee Menj 

Øeefmeæ nw?

 (A) Ûebhee

 (B) heeceieÌ{

 (C) {yeje

 (D) veJeeieÌ{

5. Dešue efyenejer JeepehesÙeer efJeÕeefJeÅeeueÙe, efyeueemehegj 

kesâ kegâueieerle kesâ henues kegâÚ Meyo keäÙee nQ?

 (A) efyeueemee ceW efyeuemelee efJeÕeefJeÅeeueÙe 

 (B) ceOegj ceveesnj DeleerJe megvoj, Ùen meJe&efJeÅee 

keâer jepeOeeveer

 (C) Mele-Mele veceve nceeje Fme %eeve œeesle keâes 

Jebove ØeCele nceeje Fme MegYe heefjmej keâes

 (D) DeefÉleerÙe mebmkeâej oslee, %eeve keâer Oeeje 

yenlee, yevesiee meyekeâe mehevee nw, ÙeneB iÙeeve 

keâe ieieve nw~

6. ‘‘nemeoes‘’ efkeâme veoer keâe Gheveoer nw?

 (A) ieesoeJejer

 (B) ceneveoer

 (C) vece&oe

 (D) FbõeJeleer
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7. Which freedom fi ghter from 

Chhattisgarh actively participated 

in the Indian independence 

movement?

 (A) Lala Lajpat Rai

 (B) Shaheed Veer Narayan Singh

 (C) Bhagat Singh

 (D) Sarojini Naidu

8. What is the forested area of Chhat-

tisgarh?

 (A) 40.85

 (B) 35.01

 (C) 44.21

 (D) 38.01

9. Which National Park in Chhattisgarh 

is known for its population of wild 

buff alo (Bison)?

 (A) Kanger Valley National Park

 (B) Barnawapara Wildlife Sanctu-

ary

 (C) Indravati National Park 

 (D) Guru Ghasidas National Park

7. ÚòeermeieÌ{ kesâ efkeâme mJeleb$elee mesveeveer ves YeejleerÙe 

mJeleb$elee Deeboesueve ceW meef›eâÙe ¤he mes Yeeie efueÙee~

 (A) ueeuee ueepehele jeÙe

 (B) Menero Jeerj veejeÙeCe efmebn

 (C) Yeiele efmebn

 (D) mejesefpeveer veeÙe[t

8. ÚòeermeieÌ{ kesâ JevÙe Yetefce keâe #es$e?

 (A) 40.85

 (B) 35.01

 (C) 44.21

 (D) 38.01

9. ÚòeermeieÌ{ ceW Jen vesMeveue heeke&â efpemes Deheves pebieueer 

YeQme (yeeFmeve) kesâ efueS peevee peelee nw?

 (A) keâebiesj Jewueer vesMeveue heeke&â

 (B) yejveeJeheeje JevÙepeerJe DeYÙeejCÙe

 (C) FbõeJeleer vesMeveue heeke&â

 (D) ieg¤ Ieemeeroeme vesMeveue heeke&â
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10. Among the following tribes, which 

one is considered as PTG (Primitive 

Tribal Group) of Chhattisgarh?

 (A) Baiga 

 (B) Kanwar 

 (C) Halwa

 (D) Gond

11. Which monument is also known as 

the “Black Pagoda”?

 (A) Sun Temple, Konark

 (B) Brihadeeswara Temple

 (C) Meenakshi Temple

 (D) Somnath Temple

12. Which Indian state is known as the 

“Spice Garden of India”?

 (A) Kerala 

 (B) Karnataka

 (C) Tamil Nadu

 (D) Andhra Pradesh

13. Which city is known as the pink city 

of India?

 (A) Udaipur

 (B) Jaipur

 (C) Jodhpur

 (D) Ajmer

10. efvecveefueefKele peeefleÙeeW ceW mes ÚòeermeieÌ{ kesâ PTG 

(ØeeLeefcekeâ DeeefoJeemeer mecetn) kesâ ¤he ceW ceeveer peeves 

Jeeueer peeefle keâewve meer nw?

 (A) yeeFiee

 (B) kebâJej

 (C) nueJee

 (D) ieeW[

11. keâewve mee mceejkeâ ‘keâeuee heiees[e’ kesâ ¤he ceW Yeer 

peevee peelee nw?

 (A) metÙe& cebefoj, keâesveeke&â

 (B) ye=noerÕej cebefoj

 (C) ceervee#eer cebefoj

 (D) meesceveeLe cebefoj

12. Yeejle kesâ efkeâme jepÙe keâes ‘‘Yeejle keâe cemeeuee 

GÅeeve’’ keâne peelee nw?

 (A) kesâjue

 (B) keâvee&škeâ

 (C) leefceuevee[g

 (D) DeebOeÇ ØeosMe

13. Yeejle keâe iegueeyeer Menj efkeâme Menj keâes keâne peelee 

nw?

 (A) GoÙehegj

 (B) peÙehegj

 (C) peesOehegj

 (D) Depecesj
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14. Who was the fi rst Indian to win a 

Nobel Prize?

 (A) C. V. Raman

 (B) Rabindranath Tagore 

 (C) Mother Teresa

 (D) Amartya Sen

15. Which traditional craft of Chhat-

tisgarh involves the creation of 

bell-metal and brass items, often 

used for religious purpose?

 (A) Dhokra

 (B) Bidri

 (C) Papier-mache

 (D) Terracotta 

16. Which famous temple in Chhattis-

garh is dedicated to the Goddess 

Danteshwari and is a signifi cant pil-

grimage site?

 (A) Bhoramdeo temple

 (B) Danteshwari temple

 (C) Champaran temple

 (D) Rajiv Lochan temple

14. henues YeejleerÙe JÙeefòeâ keâewve Les efpevneWves veesyesue 

hegjmkeâej peerlee Lee?

 (A) meer.Jeer. jceve

 (B) jJeeRõveeLe šwieesj

 (C) ceoj šsjsmee

 (D) DecelÙe& mesve

15. ÚòeermeieÌ{ keâer keâewve meer heejbheefjkeâ efMeuhe ceW Iebše-

ueesne Glheeove keâer peeleer nw, efpemes Dekeämej Oeeefce&keâ 

keâeÙeeX kesâ efueS Fmlesceeue efkeâÙee peelee nw?

 (A) {eskeâje

 (B) efyeojer

 (C) hesefheÙej-ceMes

 (D) šsjekeâesše

16. ÚòeermeieÌ{ ceW keâewve mee Øeefmeæ cebefoj osJeer oblesÕejer 

keâes meceefhe&le nw Deewj Ùen Skeâ cenlJehetCe& leerLe&mLeue 

nw?

 (A) YeesjceosJe cebefoj

 (B) oblesÕejer cebefoj

 (C) ÛebheejCe cebefoj

 (D) jepeerJe ueesÛeve cebefoj
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17. Which river is known as the lifeline 

of Chhattisgarh?

 (A) Ganga

 (B) Narmada 

 (C) Mahanadi

 (D) Godavari 

18. Which temple is also known as 

“Khajuraho of Chhattisgarh?”

 (A) Madan Kamdev Temple 

 (B) Bhoramdev

 (C) Cherki Mahal

 (D) Mandwa Mahal

19. Guru Ghasidas was born in the year?

 (A) 1756

 (B) 1763 

 (C) 1772

 (D) 1775

17. ÚòeermeieÌ{ keâer peerJeve jsKee kesâ ¤he ceW peeveer peeves 

Jeeueer keâewve meer veoer nw?

 (A) iebiee

 (B) vece&oe

 (C) ceneveoer

 (D) ieesoeJejer

18. ÚòeermeieÌ{ ceW ‘‘ÚòeermeieÌ{ keâe Kepegjenes’’ kesâ ¤he ceW 

Yeer peevee peelee nw, keâewve mee cebefoj nw?

 (A) ceove keâeceosJe cebefoj

 (B) YeesjceosJe cebefoj

 (C) Ûesjkeâer cenue

 (D) ceb[Jee cenue

19. ieg¤ Ieemeeroeme keâe pevce Je<e& keäÙee Lee?

 (A) 1756

 (B) 1763

 (C) 1772

 (D) 1775
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20. Which tribal community is predomi-

nantly found in Chhattisgarh?

 (A) Bhil

 (B) Gond

 (C) Khasi

 (D) Santhal

21. Which is the traditional food of 

Chhattisgarh?

 (A) Sambar

 (B) Bafauri

 (C) Dal baati

 (D) Dhokla

22. Which ancient city in Chhattisgarh 

is known for its archaeological sig-

nifi cance?

 (A) Nalanda

 (B) Ujjain

 (C) Sirpur

 (D) Hampi

20. ÚòeermeieÌ{ ceW DeefOekeâlej heeÙeer peeves Jeeueer 

pevepeeleerÙe mecegoeÙe keâewve meer nw?

 (A) Yeerue

 (B) ieeW[

 (C) Keemeer

 (D) mebLeeue

21. ÚòeermeieÌ{ keâe heejbheefjkeâ Yeespeve keäÙee nw?

 (A) meebyej

 (B) yeHeâewjer

 (C) oeue yeešer

 (D) {eskeâuee

22. ÚòeermeieÌ{ ceW keâewve mee ØeeÛeerve Menj hegjeleeeflJekeâ 

cenlJe kesâ efueS peevee peelee nw?

 (A) veeueboe

 (B) Gppewve

 (C) efmejhegj

 (D) ncheer
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23. Which dance form of Chhattisgarh is 

performed during marriages?

 (A) Panthi

 (B) Pandwani

 (C) Raut Nacha

 (D) Karma

24. Which craft is Chhattisgarh particu-

larly known for?

 (A) Pottery

 (B) Wood carving

 (C) Terracotta

 (D) Bamboo craft

25. The Chhattisgarh Brotherhood as-

sociation was formed by-

 (A) Bimbaji Bhonsle

 (B) Vir Narain Singh

 (C) Khub Chand Baghel

 (D) Ghasidas

23. ÚòeermeieÌ{ keâe keâewve mee ve=lÙe jepÙe ceW efJeJeeneW kesâ  

oewjeve ØeoefMe&le efkeâÙee peelee nw?

 (A) hebLeer

 (B) heb[Jeeveer

 (C) jeGle veeÛee 

 (D) keâcee&

24. ÚòeermeieÌ{ kesâ efueS efJeMes<e ¤he mes Øeefmeæ keâewve mee 

efMeuhe nw?

 (A) kegâcnejer

 (B) uekeâÌ[er keâeefJeËie

 (C) šsjekeâesše

 (D) yeebme keâuee

25. ÚòeermeieÌ{ YeeF&Ûeeje mebIe efkeâmeves yeveeÙee Lee?

 (A) efyecyeepeer YeeWmeues

 (B) Jeerj veejeÙeCe efmebn

 (C) Kegye Ûebo yeIesue

 (D) Ieemeeroeme 
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26. In a top secret message, if LIVING 

is coded as KGSHLD. How will BUD-

DHA be coded?

 (A) ATEEIB

 (B) ATACFX

 (C) ATCCGZ

 (D) KGSHLD

27. Smith said, “Lilly is wife of the grand-

son of my sister’s mother”. How is 

Smith related to Lilly?

 (A) Father 

 (B) Father-in-law

 (C) Brother-in-law

 (D) Grand Father

28. Find the Mirror Image of Figure giv-

en below:

 

  

 (A) 

 (B) 

 (C) 

 (D) 

26. Skeâ Meer<e& ieghle mebosMe ceW, Ùeefo LIVING keâes 

KGSHLD kesâ ¤he ceW keâesef[le efkeâÙee ieÙee nw~ 

BUDDHA keâes kewâmes ketâšyeæ efkeâÙee peeSiee?

 (A) ATEEIB

 (B) ATACFX

 (C) ATCCGZ

 (D) KGSHLD

27. efmceLe ves keâne, ‘‘efueueer cesjer yenve keâer ceeb kesâ heesles 

keâer helveer nw~ efmceLe efueueer mes efkeâme Øekeâej mebyebefOele 

nw?

 (A) efhelee

 (B) memegj

 (C) peerpee

 (D) oeoe

28. veerÛes oer ieF& Deeke=âefle keâe ohe&Ce Øeefleefyebye %eele 

keâerefpeS-

  

 (A) 

 (B) 

 (C) 

 (D) 

Reasoning
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29. Which of the following fi gure repre-

sent village, district, state.

 (A) 

 (B) 

 (C) 

 (D) 

30. A man walking towards north, after 

walking 100m he turns right and 

walk 75m again he turns right and 

walk 100 m and last movement he 

turns left and walk 25m, now which 

direction he is walking?

 (A) South-West

 (B) East

 (C) North

 (D) North-East

31. LJH : KKI :: CIA : ?           

 (A) DBB

 (B) BJB

 (C) CBZ

 (D) BBZ

29. efvecveefueefKele ceW mes keâewve meer Deeke=âefle ieebJe, efpeuee, 

jepÙe keâes oMee&leer nw?

 (A) 

 (B) 

 (C) 

 (D) 

30. Skeâ Deeoceer Gòej efoMee keâer Deesj Ûeue jne nw~ 100 

ceeršj Ûeueves kesâ yeeo Jen oeSb cegÌ[lee nw Deewj 75 

ceeršj Ûeuelee nw~ Jen efHeâj oeSb cegÌ[lee nw Deewj 100 

ceeršj Ûeuelee nw~ DeeefKejer yeej Jen yeeSb cegÌ[lee nw 

Deewj 25 ceeršj Ûeuelee nw~ Deye Jen efkeâme efoMee ceW 

Ûeue jne nw?

 (A) oef#eCe-heef§ece

 (B) hetJe&

 (C) Gòej

 (D) Gòej-hetJe&

31. LJH : KKI :: CIA : ?

 (A) DBB

 (B) BJB

 (C) CBZ

 (D) BBZ
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32. C is the mother of A and B. If D is 

the husband of B, then who is C of 

D?

 (A) Mother

 (B) Sister

 (C) Mother-in-law

 (D) Aunt

33. Virus : Smallpox :: Bacteria : ?

 (A) Sleeping sickness

 (B) Malaria

 (C) Typhoid

 (D) Younger mother

34. If David’s age is 27 years old in 

2011. What was his age in 2003?

 (A) 17 years

 (B) 37 years

 (C) 20 years

 (D) 19 years

35. How many meaningful English 

words can be made using each let-

ter of the alphabet ACER once?

 (A) 1

 (B) 2

 (C) 3

 (D) More than 3

32. C, A Deewj B keâer ceelee nw~ Ùeefo D, B keâe heefle 

nw lees C,  D keâer keâewve nw?

 (A) ceelee

 (B) yenve

 (C) meeme

 (D) ÛeeÛeer

33. efJe<eeCeg : ÛesÛekeâ :: peerJeeCeg : ?

 (A) efveõejesie

 (B) ceuesefjÙee

 (C) šeÙeHeâeÙe[

 (D) Úesšerceelee

34. Ùeefo 2011 ceW [sefJe[ keâer Gceü 27 Je<e& nw~ 2003 ceW 

Gmekeâer DeeÙeg keäÙee Leer?

 (A) 17 Je<e&

 (B) 37 Je<e&

 (C) 20 Je<e&

 (D) 19 Je<e&

35. De#ejeW ACER ceW mes njskeâ De#ej keâe Skeâ-Skeâ yeej 

ØeÙeesie keâjles ngS Deb«espeer kesâ efkeâleves DeLe&hetCe& Meyo 

yeveeS pee mekeâles nQ?

 (A) 1

 (B) 2

 (C) 3

 (D) 3 mes DeefOekeâ
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36. In a row of children facing north, 

Ritesh is twelfth from the left end. 

Sudhir who is twenty-second from 

the right end, fourth to the right 

from Ritesh, how many children are 

there in total in the row?

 (A) 35

 (B) 36

 (C) 37

 (D) 34

37. In a certain code, RAIL is written as 

5796 and TAPE is written as 3748, 

how is PAIR written in that code?

 (A) 4795

 (B) 4785

 (C) 3795

 (D) 8795

38. Three of the following four are alike 

in some way and hence form a 

group, which one does not come in 

this group?

 (A) Rose

 (B) Lotus

 (C) Jasmine

 (D) Marigold

36. GòejeefYecegKe yeÛÛeeW keâer Skeâ hebefòeâ ceW, efjlesMe 

yeeSb Úesj mes yeejnJeeb nw~ megOeerj pees oeSb Úesj mes 

yeeF&meJeeb nw, efjlesMe mes oeSb keâe ÛeewLee nw, hebefòeâ ceW 

kegâue efkeâleves yeÛÛes nQ?

 (A) 35

 (B) 36

 (C) 37

 (D) 34

37. Skeâ Keeme keâes[ ceW RAIL keâes 5796 efueKee peelee 

nw Deewj TAPE keâes 3748 efueKee peelee nw, Gme 

keâes[ ceW PAIR keâes kewâmes efueKee peelee nw?

 (A) 4795

 (B) 4785

 (C) 3795

 (D) 8795

38. efvecveefueefKele Ûeej ceW leerve efkeâmeer Øekeâej meceeve nQ 

FmeefueS Gvekeâe Skeâ mecetn yevelee nw, Jen Skeâ keâewve 

mee nw pees Fme mecetn ceW veneR Deelee nw?

 (A) iegueeye

 (B) keâceue

 (C) Ûecesueer

 (D) ieWoe
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39. If 5th February of any year is Friday, 

then what day will it be on 10th Au-

gust of the same year?

 (A) Friday

 (B) Wednesday or Tuesday

 (C) Monday

 (D) Saturday or Sunday

40. If green means red, red means yel-

low, yellow means blue, blue means 

orange, then tell what the color of a 

clear sky looks like?

 (A) Orange

 (B) Green

 (C) Yellow

 (D) Red

41. If it is possible to make a meaning-

ful English word by combining the 

second, fi fth, sixth and tenth letters 

of STREAMLINE, then what will be 

the third letter of that word?

 (A) T

 (B) E

 (C) M

 (D) A

39. Ùeefo efkeâmeer Je<e& 5 HeâjJejer keâes Meg›eâJeej nw, lees Gmeer 

Je<e& 10 Deiemle keâes keâewve-mee efove nesiee?

 (A) Meg›eâJeej

 (B) yegOeJeej Ùee cebieueJeej

 (C) meesceJeej

 (D) MeefveJeej Ùee jefJeJeej

40. Ùeefo nje keâe DeLe& ueeue, ueeue keâe DeLe& heeruee, 

heerues keâe DeLe& veeruee, veeruee keâe DeLe& veejbieer nes, 

lees yeleeFS mJeÛÚ DeekeâeMe keâe jbie kewâmee efoKeeF& 

oslee nw~

 (A) veejbieer

 (B) nje

 (C) heeruee

 (D) ueeue

41. Ùeefo STREAMLINE kesâ otmejs, heeBÛeJes, Ú"s Deewj 

omeJeW De#ejeW keâes efceuee keâj keâesF& meeLe&keâ Deb«espeer 

Meyo yeveevee mecYeJe nes, lees Gme Meyo keâe leermeje 

De#ej keäÙee nesiee?

 (A) T

 (B) E

 (C) M

 (D) A 
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42. In a birthday party, 5 friends are 

sitting in a row. M is to the left of 

O and to the right of P. S is to the 

right of T but left of P. Who is sitting 

in the centre?

 (A) M

 (B) P

 (C) O

 (D) S

43. Geeta is more beautiful than Sita 

but not as beautiful as Rita, then?

 (A) Sita is more beautiful than Rita

 (B) Sita is not as beautiful as Gee-

ta

 (C) Geeta is more beautiful than 

Rita 

 (D) Rita is not as beautiful as Gee-

ta

44. Pointing to a woman, Simon said, 

she is the daughter of my father’s 

only sister. How is that woman 

related to Simon?

 (A) Mother

 (B) Cousin sister

 (C) Sister

 (D) Aunt

42. Skeâ pevce efove heešea ceW, 5 efce$e Skeâ hebefòeâ ceW yew"s 

nQ~ M, O kesâ yeeFË Deewj P kesâ oeFË Deesj nw~ S, T 

kesâ oeFË Deesj efkeâvleg P kesâ yeeFË Deesj yew"e nw, yeerÛe 

ceW keâewve yew"e nw?

 (A) M

 (B) P

 (C) O

 (D) S

43. ieerlee, meerlee mes DeefOekeâ megvoj nw uesefkeâve jerlee 

efpeleveer megvoj veneR nw, lees? 

 (A) meerlee, jerlee mes pÙeeoe megboj nw

 (B) meerlee, ieerlee efpeleveer mebgoj veneR nw

 (C) ieerlee, jerlee mes pÙeeoe megboj nw

 (D) jerlee, ieerlee efpeleveer megboj veneR nw

44. Skeâ ceefnuee keâer Deesj mebkesâle keâjles ngS meeFceve ves 

keâne, Jen cesjs efhelee keâer Skeâcee$e yenve keâer heg$eer nw~ 

Jen ceefnuee meeFceve mes efkeâme Øekeâej mebyebefOele nw?

 (A) ceelee

 (B) HegâHesâjer yenve

 (C) yenve

 (D) yegDee
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45. Sonia left her house and went 4 km 

towards east. Then she turned left 

and walked 6 km, then she turned 

right and walked 4 km, how far is 

she from the starting point?

 (A) 10 Km

 (B) 14 Km

 (C) 8 Km

 (D) 5 Km

46. Number of clock strikes in 12 hours?

 (A) 12 Times

 (B) 100 Times

 (C) 78 Times

 (D) 23 Times

47. The clock seen in the mirror shows 

a quarter to three o’clock, what is 

the correct time in the clock?

 (A) 8.45

 (B) 3.45

 (C) 6.45

 (D) 9.45

45. meesefveÙee Deheves Iej mes Ûeueer Deewj 4 efkeâceer. hetJe& 

keâer Deesj ieF&~ leye Jen yeeSB Ietceer Deewj 6 efkeâceer. 

Ûeueer, efHeâj Jen oeSB Ietceer Deewj 4 efkeâceer. Ûeueer, Jen 

ØemLeeve mLeue mes efkeâleveer otjer hej nw?

 (A) 10 efkeâceer.

 (B) 14 efkeâceer.

 (C) 8 efkeâceer.

 (D) 5 efkeâceer.

46. 12 Iebšs ceW IeÌ[er kesâ yepeves keâer mebKÙee?

 (A) 12 yeej

 (B) 100 yeej

 (C) 78 yeej

 (D) 23 yeej

47. ohe&Ce ceW osKeer ieF& IeÌ[er meJee leerve yepes keâe meceÙe 

efoKeeleer nw, IeÌ[er ceW mener meceÙe keäÙee nw?

 (A) 8.45

 (B) 3.45

 (C) 6.45

 (D) 9.45
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48. Which word does not belong with 

the others?

 (A) Apple

 (B) Banana

 (C) Mango

 (D) Carrot

49. If all the letters in the word ‘STUDY’ 

are arranged in alphabetical order, 

which letter will be in the middle?

 (A) D 

 (B) S

 (C) T

 (D) U

50. What will be next of this -

 FAG, GAF, HAI, IAH, ______

 (A) JAK

 (B) HAL

 (C) HAK

 (D) JAI

48. keâewve mee Meyo otmejeW kesâ meeLe veneR nw?

 (A) mesye 

 (B) kesâuee

 (C) Deece

 (D) ieepej

49. Ùeefo Meyo ‘STUDY’ kesâ meYeer De#ejeW keâes JeCe&ceeuee 

›eâce ceW JÙeJeefmLele efkeâÙee peelee nw, lees keâewve mee 

De#ej yeerÛe ceW nesiee?

 (A) D 

 (B) S

 (C) T

 (D) U 

50. Fme meerjerpe keâe Deieuee keäÙee nesiee -

 FAG, GAF, HAI, IAH, ______

 (A) JAK

 (B) HAL

 (C) HAK

 (D) JAI
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51. Which type of software license al-

lows users to freely use, modify, 

and distribute the software?

 (A) Proprietary license

 (B) Closed-source license

 (C) Open-source license

 (D) End-user license

52. What is the purpose of a DNSSEC           

(Domain Name System Security Ex-

tensions) in computer networks?

 (A) To encrypt DNS queries

 (B) To prevent DNS cache poison-

ing attacks

 (C) To increase DNS server perfor-

mance

 (D) To monitor network traffi  c

53. What is the name of the high-perfor-

mance computing chip announced 

by Google in 2021, specifi cally de-

signed for AI and machine learning 

tasks?

 (A) Tensor Processing Unit (TPU)

 (B) Neural Engine

 (C) Vision Processing Unit (VPU)

 (D) Quantum Processing Unit 

(QPU)

51. efkeâme Øekeâej keâe mee@HeäšJesÙej ueeFmeWme GheÙeesiekeâòee&DeeW 

keâe mee@HeäšJesÙej keâe mJeleb$e ¤he mes GheÙeesie, mebMeesOeve 

Deewj efJelejCe keâer Devegceefle oslee nw-

 (A) Proprietary license

 (B) Closed-source license

 (C) Open-source license

 (D) End-user license

52. keâchÙetšj vesšJeke&â ceW DNSSEC (Domain 

Name System Security Extensions)  

keâe keäÙee GösMÙe nw-

 (A) DNS Queries keâes Fveef›eâhš keâjves kesâ 

efueÙes

 (B) DNS cache poisoning attack keâes 

jeskeâves kesâ efueÙes

 (C) DNS Server keâer hejHeâeceXme yeÌ{eves kesâ 

efueÙes

 (D) Traffic keâes ceeefvešj keâjves kesâ efueÙes

53. 2021 ceW ietieue Éeje Ieesef<ele GÛÛe ØeoMe&ve keâchÙetefšbie 

efÛehe keâe veece keäÙee nw efpemes efJeMes<e ¤he mes AI SJeb 

ceMeerve ueefveËie kesâ keâeÙeeX kesâ efueÙes ef[peeFve efkeâÙee 

ieÙee nw~

 (A) Tensor Processing Unit (TPU)

 (B) Neural Engine

 (C) Vision Processing Unit (VPU)

 (D) Quantum Processing Unit 

(QPU)

General Computer Knowledge
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54. In 2021, which popular social me-

dia platform was involved in contro-

versy over its algorithms and their 

impact on mental health, especially 

among teenagers?

 (A) Twitter

 (B) Instagram

 (C) Facebook

 (D) Tik Tok

55. Which AI-based language model 

developed by Open AI was released 

in November 2022 and became 

notable for its conversational 

abilities?

 (A) GPT-2

 (B) GPT-3

 (C) GPT-4

 (D) GPT-5

56. In 2021, which social media compa-

ny rebranded itself as Meta, signal-

ing a shift towards the development 

of the metaverse?

 (A) Twitter

 (B) Facebook

 (C) Linkedin

 (D) Snapchat

54. 2021 ceW keâewve mee ueeskeâefØeÙe meesMeue ceeref[Ùee 

huesšHeâece& Deheves Suieesefjoce SJeb efJeMes<e ¤he mes 

efkeâMeesjesb kesâ yeerÛe ceeveefmekeâ mJeemLÙe hej ØeYeeJe keâes 

ueskeâj efJeJeeo ceW Lee~

 (A) Twitter

 (B) Instagram

 (C) Facebook

 (D) Tik Tok

55. Open AI Éeje efJekeâefmele keâewve mee cee[ue 

veJecyej 2022 ceW peejer efkeâÙee ieÙee Lee Deewj Deheveer 

mebJeeoelcekeâ #eceleeDeeW kesâ efueÙes GuuesKeveerÙe yeve 

ieÙee~

 (A) GPT-2

 (B) GPT-3

 (C) GPT-4

 (D) GPT-5

56. 2021 ceW efkeâme meesMeue ceeref[Ùee kebâheveer ves cesšeJeme& 

kesâ efJekeâeme keâer efoMee ceW yeoueeJe keâe mebkesâle osles ngÙes 

Kego kesâ Meta kesâ ¤he ceW hegve: yeÇeb[ efkeâÙee~

 (A) Twitter

 (B) Facebook

 (C) Linkedin

 (D) Snapchat
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57. Which type of memory hierarchy 

typically has the fastest access 

speed?

 (A) Cache memory

 (B) RAM

 (C) Hard disk

 (D) Optical disk

58. What is the diff erence between 

HTTP and HTTPS?

 (A) HTTP is more secure than 

HTTPS.

 (B) HTTP uses port 80, while HTTPS 

uses port 443.

 (C) HTTPS encrypts data transmit-

ted over the network, while 

HTTP does not.

 (D) HTTP is faster for large fi le 

downloads compared to HTTPS.

59. Which of the following is NOT a type 

of cloud computing service model?

 (A) IaaS (Infrastructure as a Ser-

vice)

 (B) SaaS (Software as a Service)

 (C) PaaS (Platform as a Service)

 (D) LAN (Local Area Network)

57. efkeâme Øekeâej keâer cesceesjer heoeveg›eâce ceW Deeceleewj hej 

meyemes lespe hengBÛe ieefle nesleer nw-

 (A) kewâMe cesceesjer

 (B) jwce

 (C) ne[& ef[mkeâ

 (D) Deeefhškeâue ef[mkeâ

58. HTTP SJeb HTTPS ceW keäÙee Deblej nw?

 (A) HTTP, HTTPS mes DeefOekeâ megjef#ele nw

 (B) HTTP heesš& 80 keâe ØeÙeesie keâjlee nw peyeefkeâ 

HTTPS heesš& 443 keâe GheÙeesie keâjlee nw

 (C) HTTPS vesšJeke&â hej Øemeeefjle [sše keâes 

Sefv›eâhš keâjlee nw peyeefkeâ HTTP Ssmee veneR 

keâjlee

 (D) HTTPS keâer leguevee ceW HTTP yeÌ[er HeâeFue 

[eGveuees[ kesâ efueÙes lespe nw

59. efvecveefueefKele ceW keâewve mee cee@[ue keâchÙetefšbie mesJee 

keâe Skeâ Øekeâej veneR nw-

 (A) IaaS (Infrastructure as a 

Service)

 (B) SaaS (Software as a Service)

 (C) PaaS (Platform as a Service)

 (D) LAN (Local Area Network)
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60. What is the role of a compiler in 

programming?

 (A) To execute the program

 (B) To translate source code into 

machine code

 (C) To debug the program

 (D) To store variables during pro-

gram execution

61. Which type of attack aims to over-

load a network or server with ex-

cessive traffi  c to disrupt normal op-

eration?

 (A) Phishing attack

 (B) DoS (Denial of Service) attack

 (C) SQL injection attack

 (D) Man-in-the-middle attack

62. Which type of attack involves trick-

ing users into providing sensitive 

information such as passwords or 

credit card numbers?

 (A) DDoS attack

 (B) Trojan horse

 (C) Phishing attack

 (D) Firewall breach

60. Øees«eeefcebie ceW kebâheeFuej keâer keäÙee Yetefcekeâe nw-

 (A) Øees«eece keâes efve<heeefole keâjvee

 (B) meesme& keâes[ keâes ceMeerve keâes[ ceW DevegJeeo 

keâjvee

 (C) Øees«eece keâes ef[yeie keâjvee

 (D) Øees«eece efve<heeove kesâ efueS JesefjÙesyeue keâes 

meb«eefnle keâjvee

61. efkeâme Øekeâej kesâ nceues keâe GösMÙe meeceevÙe mebÛeeueve 

keâes yeeefOele keâjves kesâ efueÙes DelÙeeefOekeâ š^wefHeâkeâ Jeeues 

meJe&j keâes DeesJejuees[ keâjvee nw-

 (A) efHeâefMebie nceuee

 (B) DoS (mesJee mes Fvkeâej)

 (C) Sme.keäÙet.Sue. FbpeskeäMeve Dešwkeâ

 (D) cesve Fve efceef[ue Dešwkeâ

62. efkeâme Øekeâej kesâ nceues ceW GheÙeesiekeâòee& keâes heemeJe[& 

Ùee ›esâef[š keâe[& pewmeer mebJesoveMeerue peevekeâejer Øeoeve 

keâjves kesâ efueÙes OeesKee osvee Meeefceue nw~

 (A) DDoS nceuee

 (B) š^espeve neme&

(C) efHeâefMebie nceuee

 (D) HeâeÙejJeeue GuuebIeve
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63. What does the acronym SQL stand 

for in the context of databases?

 (A) Structured Query Language

 (B) System Query Language

 (C) Simple Query Language

 (D) Script Query Language

64. Which of the following is NOT a type 

of computer network?

 (A) LAN (Local Area Network)

 (B) WAN (Wide Area Network)

 (C) MAN (Metropolitan Area Net-

work)

 (D) USB (Universal Serial Bus)

65. Which programming language is 

often used for artifi cial intelligence 

and machine learning applications?

 (A) C++

 (B) Python

 (C) Java

 (D) Ruby

63. SQL keâe hetje veece keäÙee nw-

 (A) Structured Query Language

 (B) System Query Language

 (C) Simple Query Language

 (D) Script Query Language  

64. efvecveefueefKele ceW mes keâewve keâchÙetšj keâe Øekeâej veneR 

nw-

 (A) LAN (Local Area Network)

 (B) WAN (Wide Area Network)

 (C) MAN (Metropolitan Area Net-

work)

 (D) USB (Universal Serial Bus)

65. ke=âef$ece yegefæceòee SJeb ceMeerve ueefveËie kesâ DevegØeÙeesieeW 

kesâ efueS Dekeämej efkeâme Yee<ee keâe GheÙeesie efkeâÙee 

peelee nw-

 (A) C++

 (B) Python

 (C) Java

 (D) Ruby
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66. What is the purpose of a DNS (Do-

main Name System) in computer 

networks?

 (A) To encrypt data transmissions

 (B) To route network traffi  c

 (C) To translate domain names 

into IP addresses

 (D) To secure email communica-

tions

67. Which type of computer memory 

is  volatile and loses its data when 

power is turned off ?

 (A) RAM

 (B) ROM

 (C) Cache

 (D) Hard disk

68. Which fi le format is commonly used 

for compressing a group of fi les into 

a single archive fi le?

 (A) .exe

 (B) .zip 

 (C) .txt

 (D) .jpg

66. keâchÙetšj vesšJeke&â ceW DNS (Domain Name 

System) keâe GheÙeesie keäÙee nw?

(A) [sše š^ebmeefceMeve keâes Fefv›eâhš keâjves kesâ efueÙes 

 (B) vesšJeke&â š^sefHeâkeâ keâes ¤š keâjves kesâ efueÙes

 (C) [escesve vesce keâes DeeF&heer heles ceW DevegJeeo keâjvee

 (D) Fcesue mebÛeej megjef#ele keâjves kesâ efueÙes

67. efkeâme Øekeâej keâer keâchÙetšj cesceesjer DeefmLej nesleer nw 

Deewj efyepeueer yebo nesves hej Dehevee [sše Kees osleer nw-

 (A) jwce

 (B) jesce

 (C) kewâMe cesceesjer

 (D) ne[& ef[mkeâ

68. efvecveefueefKele ceW mes keâewve mee HeâeFue Heâecexš, efJeefYeVe 

HeâeFume kesâ «eghe keâes Skeâ HeâeFue ceW compress 

keâjlee nw~

 (A) .exe

 (B) .zip 

 (C) .txt

 (D) .jpg
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69. What is the primary function of a 

GPU (Graphics Processing Unit) in a 

computer system?

 (A) To execute operating system 

commands

 (B) To process graphical data and 

render images

 (C) To store temporary data during 

program execution

 (D) To manage network connec-

tions

70. Which type of software is used to 

create and manage databases?

 (A) Spreadsheet software

 (B) Database management system 

(DBMS)

 (C) Presentation software

 (D) Word processor

71. In which layer of the OSI model do 

routers operate?

 (A) Application layer

 (B) Transport layer

 (C) Network layer

 (D) Data link layer

69. keâchÙetšj efmemšce ceW GPU («eeefHeâkeâue Øeesmesefmebie 

Ùetefveš) keâe ØeeLeefcekeâ keâeÙe& nw-

 (A) Deehejsefšbie efmemšce keâceeb[ efve<heeefole keâjvee

(B) «eeefHeâkeâue [sše keâes mebmeeefOele keâjvee SJeb 

ÚefJeÙeeW keâes Øemlegle keâjvee

(C) Øees«eece efve<heeove kesâ oewje DemLeeÙeer [sše 

meb«eefnle keâjves kesâ efueÙes

(D) vesšJeke&â keâveskeäMeve ØeyebefOele keâjves kesâ efueÙes

70. [sšeyesme yeveeves kesâ efueÙes SJeb ØeyebefOele keâjves kesâ efueÙes 

efkeâme mee@HeäšJesÙej keâe GheÙeesie efkeâÙee peelee nw~

 (A) Spreadsheet software

 (B) Database management system 

(DBMS)

 (C) Presentation software

 (D) Word processor

71. OSI cee@[ue kesâ efkeâme uesÙej ceW jeGšj keâeÙe& keâjlee 

nw-

 (A) Application layer

 (B) Transport layer

 (C) Network layer

 (D) Data link layer



AUUGCET\2024\C [26]

72. What does the term “GUI” stand for 

in computing?

 (A) Graphical User Interface

 (B) General Utility Interface

 (C) Global User Interaction

 (D) Grouped User Integration

73. Which programming paradigm fo-

cuses on grouping data and opera-

tions into objects that interact with 

each other?

 (A) Functional programming

 (B) Procedural programming

 (C) Object-oriented programming

 (D) Declarative programming

74. Which protocol is used to retrieve 

email from a mail server to a client 

device?

 (A) SMTP

 (B) POP3

 (C) FTP

 (D) HTTP

75. Which of the following is NOT a fea-

ture of cloud computing?

 (A) Scalability

 (B) Virtualization

 (C) Physical storage

 (D) On-demand service

72. keâchÙetefšbie ceW “GUI” keâe hetje veece keäÙee nw?

 (A) Graphical User Interface

 (B) General Utility Interface

 (C) Global User Interaction

 (D) Grouped User Integration

73. keâewve mee Øees«eeefcebie hewjeef[ice [sše SJeb DeehejsMeve keâes 

Skeâ otmejs kesâ meeLe Fbšjskeäš keâjves Jeeues Deeypeskeäš ceW 

mecetnerke=âle keâjlee nw-

 (A) Functional programming

 (B) Procedural programming

 (C) Object-oriented programming

 (D) Declarative programming

74. cesue meJe&j mes keäueeFbš ef[JeeFme hej F&cesue hegve: Øeehle 

keâjves kesâ efueÙes efkeâme Øeesšeskeâeue keâe GheÙeesie efkeâÙee 

peelee nw-

 (A) SMTP

 (B) POP3

 (C) FTP

 (D) HTTP 

75. efvecveefueefKele ceW keâewve meer keäueeG[ keâchÙetefšbie keâer 

efJeMes<elee veneR nw-

 (A) Scalability

 (B) Virtualization

 (C) Physical storage

 (D) On-demand service 
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76. Choose the correct word :

   “He is known for his _____ deci-

sions”.

 (A) wisdom

 (B) wise

 (C) wisely

 (D) wisest

77. Select the correct prepositional 

phrase:

 “He walked ______ the park.”

 (A) through

 (B) into

 (C) on

 (D) in 

78. Pick the correct form of the verb:

“They ______ the movie last night.”

(A) watch

(B) watched

(C) watches

(D) watching

79. Identify the correct adjective :

 “He is the _____ man in the room.”

 (A) tall

 (B) taller

(C) tallest

 (D) most tall

80. Choose the correct relative pronoun 

 “The book _____ I borrowed was 

interesting”.

(A) who

(B) which

(C) whom

(D) whose

81. Select the correct collocation:

“He made a ______ decision.”

(A) quick

(B) fast

(C) rapidly

(D) swift

82. Pick the correct sentence:

(A) She is reading a book now.

(B) She read a book now.

(C) She reads a book now.

(D) She reading a book now.

English Language
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83. Identify the correct form of the 

verb: “The Sun ______ in the east”.

 (A) rise

 (B) rises

 (C) risen

 (D) rising

84. Choose the correct preposition : 

 “He is good ______ playing tennis.”

 (A) in

 (B) at

 (C) with

 (D) on

85. Select the correct word :

 “She is _____ than her brother.”

 (A) tall

 (B) taller

 (C) tallest

 (D) more tall

86. Pick the correct article : 

 “He is ______ honest man.”

 (A) a

 (B) an 

 (C) the

 (D) none

87. Identify the correct tense:

 “By next year, I _____ my degree.”

 (A) complete

 (B) completed

 (C) will complete

 (D) will have completed

88. Choose the correct conjunction :

 “He was tired _____ he continued 

to work.”

 (A) but

 (B) and

 (C) so

 (D) because
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89. Select the correct pronoun:

 “Neither of the boys did ______ 

homework.”

 (A) his

 (B) their

 (C) theirs

 (D) them

90. Pick the correct form of the adjec-

tive:

 “She is the _____ student in the 

class.”

 (A) intelligent

 (B) more intelligent

 (C) most intelligent

 (D) intelligenter

91. Identify the correct sentence:

 (A) He don’t know the answer.

 (B) He doesn’t knows the answer.

 (C) He doesn’t know the answer.

 (D) He don’t knows the answer.

92. Choose the correct spelling:

 (A) Necessery

 (B) Neccessary

 (C) Necessarry

 (D) Necessary

93. Select the correct idiom :

 “To spill the beans” means:

 (A) To clean up

 (B) To reveal a secret

 (C) To cook dinner

 (D) To plant seeds

94. Choose the correct passive voice:

 “The chef cooks the meal.”

 (A) The meal is cooked by the chef.

 (B) The meal was cooked by the 

chef.

 (C) The meal is cooking by the 

chef.

 (D) The meal cooked by the chef.
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95. Pick the correct synonym:

 “Enormous” means:

 (A) tiny

 (B) huge

 (C) small

 (D) weak

96. Identify the antonym :

 “The opposite of ‘brave’ is:

 (A) bold

 (B) timid

 (C) fearless

 (D) courageous

97. Choose the correct question tag:

 “She can swim well, ______ ?”

 (A) can she

 (B) can’t she

 (C) does she

 (D) doesn’t she

98. Select the correct form : 

 “If I ____ a bird, I would fl y.”

 (A) am

 (B) was

 (C) were

 (D) will be

99. Pick the correct phrase :

 “She passed the exam _____ her 

hard work.”

 (A) because

 (B) due to

 (C) despite

 (D) since

100. Identify the correct noun form : 

 “The ______ of the situation was 

serious.”

 (A) critical

 (B) critique

 (C) critic

 (D) criticality
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Rough Work



1. ÙeLee mecYeJe kesâJeue keâeues/veerues yee@ue hJeeFbš hesve keâe ØeÙeesie 
keâjW~ 

2. ieesues keâes DelÙeefOekeâ meeJeOeeveer hetJe&keâ keâeuee/veeruee keâjW 
keäÙeeWefkeâ yeeo ceW megOeej keâjvee mecYeJe veneR nw~

3. ØelÙeskeâ Jemlegefve‰ ØeMve kesâ yeeo Ûeej Gòej efJekeâuhe (A), 
(B), (C) leLee (D) efoÙes ieÙes nQ~ ØelÙeskeâ oMee ceW 
GveceW mes Skeâ efJekeâuhe ner Gme ØeMve keâe mener Gòej nesiee~ 
FveceW mes mener Gòej-efJekeâuhe Ûegvekeâj Dees.Sce.Deej.he$ekeâ 
ceW mecyeefvOele ØeMve mebKÙee kesâ meeceves Jeeues mener ieesue 
Keeves keâes yee@ue hJeeFbš hesve mes keâeuee/veeruee efkeâÙee peeÙesiee~

4. Ùeefo Deehe Dees.Sce.Deej. Gòej-he$ekeâ ceW efkeâmeer ØeMve kesâ 
meeceves Skeâ mes DeefOekeâ ieesueekeâej Keeves YejWies lees Deehekeâe 
Gòej ieuele ceevee peeÙesiee~

5. Dees.Sce.Deej. Gòej-he$ekeâ ceW Jemlegefve‰ kesâ GòejeW kesâ 
DeueeJee DevÙe meYeer JeebefÚle efJeJejCe Yeer DeeJeMÙekeâ ¤he mes 
Yejs peeves nQ~ Fmekesâ efueÙes GheÙegòeâ ieesueeW keâes keâeuee/veeruee 
keâjW~ 

6. Ùeefo efoÙes ieÙes efveoxMeevegmeej Deehe Dehesef#ele ieesueeW keâes 
keâeuee/veeruee veneR keâjles nQ lees Deehekesâ Gòej-he$ekeâ keâe 
cetuÙeebkeâve veneR efkeâÙee peeÙesiee~ 

7. Dees.Sce.Deej. he$ekeâ keâes keâneR mes Yeer ve ceesÌ[W Deewj ve ner 
efveOee&efjle mLeeve kesâ Deefleefjòeâ efkeâmeer Yeer DevÙe mLeeve hej 
keâesF& Yeer efveMeeve ueieeÙeW DevÙeLee Deehekesâ Gòej-he$ekeâ keâer 
peeBÛe mecYeJe veneR nesieer~ 

8. efveOee&efjle mLeeveeW kesâ DeueeJee DevÙe$e efkeâmeer mLeeve hej ve 
lees keâesF& efveMeeve ueieeÙeW Deewj ve ner Deveg›eâceebkeâ Ùee veece 
efueKeW, DevÙeLee Deehekeâer ØeJesMe hejer#ee efvejmle keâj oer 
peeÙesieer~ 

9. Dees.Sce.Deej. Gòej-he$ekeâ ceW Jemlegefve‰ ØeMveeW kesâ Gòej 
osves kesâ efueÙes ieesueekeâej Keeves keâes mener-mener Yejves keâer 
efJeefOe efvecve Øeoe|Mele GoenjCe kesâ Devegmeej nesieer:

mener lejerkeâe : A B C D

1. Preferably use Black/Blue Ball Point Pen. 

2. Darken the circle very carefully, because 
there is no scope for rectifi cation after-
wards.

3. Each objective type question has 4 (four) 
alternatives (A), (B), (C) and (D). In any 
case one and only one alternative will be 
the correct answer. Choose the right al-
ternative and darken the appropriate cir-
cle in the OMR answer sheet in front of 
the related question. 

4. If you darken more than one circle in 
front of any question in your OMR Sheet, 
your answer will be treated as wrong. 

5. In OMR answer sheet you must fi ll up all 
other required informations and for this 
you must darken the appropriate circle. 
Do this very carefully. 

6. Your answer sheet will not be evaluated 
if you fail to fi ll up the required circles 
correctly as per given directions. 

7. Do not fold OMR answer sheet and do not 
make any stray marks on it, otherwise it 
won’t be possible to evaluate it. 

8. Do not make any stray mark and do not 
write your roll number or name except 
in the space provided for the purpose, 
otherwise your examination will be can-
celled. 

9. The right method to darken the circle to 
answer the objective type questions in 
OMR sheet is as shown below :  

 Right method : A B C D

Dees.Sce.Deej. he$ekeâ ceW Gòej Debefkeâle keâjves kesâ efueS 
DeeJeMÙekeâ DevegosMe

INSTRUCTIONS FOR MARKING THE 
ANSWERS IN THE OMR ANSWER SHEET


